[bookmark: _GoBack]Histograms Notes

A histogram is a graph that displays data.  Like a bar graph, a histogram uses bars to represent data.  The bars 

in a histogram do not have any spaces between them.  In order to construct a histogram, you must divide the 

data into intervals.  The number of data points that fall into an interval is the frequency.  This tells you

the height of each bar on a histogram.


Checklist for Histograms:

☐	Title
☐	Label on the x-axis (horizontal – left to right)
☐	Label on the y-axis (vertical – up and down)
☐	Equal spaces on the x-axis
☐	Equal spaces on the y-axis
☐	Intervals on the x-axis 
	    Example: 	1 – 5
			6 – 10
			11 – 15
			16 – 20
☐	Scale on the y-axis 
	  Examples: 	0, 1, 2, 3, 4, 5
			0, 2, 4, 6, 8, 10
			0, 5, 10, 15, 20
☐	No spaces between bars[image: ]
Science Test Scores
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Between Bars
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 Label on Y-Axis
Scale:
Counting 
by 10’s
Intervals: Each interval starts 
where the previous one left off
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A histogram is a graph that displays data. Like a bar graph, a histogram
uses bars to represent data. The bars in a histogram do not have any gaps
between them. In order to construct a histogram, you must have data that is
divided into intervals. The number of elements that fall into an interval
determines the height of the corresponding bar on a histogram.



Data has been collected on the number of each test score for Mr.
Brown’s students. Using the data in the table, construct a histogram 
of the data.



Begin by drawing and labeling a vertical and a horizontal axis. The
horizontal axis should show the intervals. For each interval, draw a bar
whose height is the frequency.



Use the information from the example to answer the following
questions.



1. Which interval has the greatest number of students?



2. Which interval has the least number of students?



3. How many students scored 59% or lower?



4. How many students scored 40% or above?



5. Standardized Test Practice Select the answer choice, which represents a 
true statement, based upon the data in the histogram.
A More students scored B Mr. Browns test C The second largest 



below 60% than above. was 65 questions. interval was 80%–100%.



ExampleExample



PracticePractice



Answers:1. 60%–79%2.20%–39%3.284.1115.C



Score Frequency



0%–19% 6



20%–39% 5



40%–59% 17



60%–79% 53



80%–100% 41
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